2 - Fermat £ 32
. RS Z

% Fermat =32
® TR FPLHTE Y AEZRZRDEFOL FEk P
aPl=1modp

& B4c: a=7, p=19 B 7% = 1mod 19
7°=49 =11 mod 19
T4=7>x7*=11x11=121=7 mod 19
TB=74x7"=7x7=49=11mod 19
716=78x78=11x11=121=7 mod 19
arl =718 =716y72 = 7% 11=77 = 1mod 19 (&2 -

® Fermat z 32 %35 :
« a(aP!)=a( 1 modp)

e a» = amodp

B o 5
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1P B¢ T 32 - Euler's Totient Sk

# Euler's Totient 3¢

® o) E ¥ nlednsiI 2 m Fikehkp o
B4od (10)=4> R4 73102 2 10 2 3 FendeF £ 353 4 B o

geb(1, 10) » ged(3, 10), ged(d, 10), ged(7, 10)=1
Bdye ¢ (9), Bl ged(1,9)=1,2,3,5,7,8 R 6 &

® Yo%k p ik B ¢()=p-l

Bye i p=3 Bl ¢ (3)=3-1=2; p=19 > A ¢ (19) = 18

® 30 1% 83 hd(n)

n y(n)
1 1
2 1
3 2
4 2
5 4
6 2
7 6
8 4
9 6
10 4

n
11
12
13
14
15
16
17
18
19
20

v(n)
10
4
12

21
22
23
24
25
26
27
28
29
30

v(n)
12
10
22

20
12
18
12
28

B o 5
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e 4P B2 € 32 - Euler's Totient & #&

# B3-S BFEpPpEq A N=pg B
¢(n)=¢(pa)=¢ (p) x ¢ (q) =(p-1) x (q-1)

% Bdcop=3~Q=7~ KA n=21- Bl
P2 =¢B)x ¢(7)=2x6=12
=(3-1) x (7-1)

B o 5
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o A0 B T 32 - Euler 232

%= Euler =32
® T & ww¥xaen3IF (ged(an)=1) s P
a?™mod n= 1modn
® LLEAT AP NI LR REE G (3F) »atMsruns
o {9 Bl el s 1o
B> a=3-n=10> Bl ¢ (n) =¢ (10) =4
FIFhoT
a?M=34=81 =1mod 10 = 1 mod n
¢ Euler 32 ch% A .
ax(@?M)=ax(1modn)

a?M+l = gmodn

18
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